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Exercise Decision Tables 
Reduce Decision Table 
The following decision table represents rules for reimbursing expenses by health insurance. 

The reimbursement of expenses by health insurance depends on three conditions:  

• whether decuctible is already met,  

• whether the patient visited the doctor‘s office (D), a hospital (H) or a lab (L) and  

• whether – in case of a visit at the doctor’s office – the physician is present  

For example:  

IF the deductable is met AND the type of visit is D AND the physician is present 

THEN the reimbursement is 90% 

The following decision table represents rules for reimbursing expenses. It is complete showing all 
combinations of conditions. Reduce the table to only the really needed number of rules. 
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